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4 1
2x+5y=2150r 3x+ y =350 or equivalent P1
= Hopse 1 o8 5 or y =AS0-Ander e =
x-—2 ——Ey or y= —zX)or y= X 3 K1
or equivalent
1
2x+ 5(350 —3x)=215o0r equivalent K1
x=80 N1
y=110 N1
5
5 (a)(1) Some P1
(1) All P1
) Implication 1 : Ifb—5>0,thenb—7>0 P1
Implication2 :If b—7>0,then b—5>0 P1
(c) If set M is a subset of set N, then M N N=M P1
or !
If M (1 N+ M then set M is not a subset of set N

1
5(5x+2+ 10)(x +2)x11 = 484
5x7 +22x-64=0

(5x+32)(x-2)=0
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7 (a) 12x+ 13y = 108:10 or 17x+ 8y = 10210 P1
(b) 1213\ /% _ 71081
(17 8 ) (v) _ (102-1) K1
% 1 8 —13\/1081
(") (12)(8) = (13)(17) (—17 12 )(102-1) K1
x=3-7 N1
y=49 N1
5
8 (a) (6,0) Pl
6-4 2
(b) 60 " - K1
1
S N1
(c) (0)=§(6)+c or c=-2 K1
5
9 (a) {(A, N), (A, M), (A, H), (E, N), (E, M), (E, H), (S, N),(S, M), P2
(S, H), (R,N),(R, M), (R, H)}
Note:
Allow one mistake for P1.
()1 {(R, M), (R, H)} K1
_2
12
(O)ii) - {(A, M), (A, H), (E, M), (E, H), (S, M), (S, H), (R, N)}
-7
12
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K1
(@) (l X 2 % 2_2. X Z)
9 T
e a8 Kl
4 [Pl =
o) (2 it 2) ®)
95 N1
® (1 2 (7 2 K1
e 3 e X0
2550 2)
. (21x21x3) 1 22x(7 2 K1
| —_— =X — —
Re T 2)
i
i 1284-5 N1
. 6
11 (a)
1 1
Distance Porsche = (5 XISOXZ) + (5 X150><0°5) =187:5 K1
Distance Bently = %x 150x4 =300
1
Distance Mazda i %(2:5+5)x80 =300
Mazda because the time taken is 5 seconds or P
disqualified st
300
b —n
(%) 5
60
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(@)

(®)

(c)

(d)

X -25 5 P1P1
y -3.75| 43

Axes drawn in the correct directions with uniform scales for
~3<x<4and-9<y<7l. P1

All'7 points and *2 points correctly plotted or curve passes through all
points for -3 <x <4 and -9 <y <71. K2

A smooth and continuous curve without any straight line and passes
through all 9 correct 9 points using the given scale
-3<x<4and -9<y<7l. N1

Notes:

1. 7 or 8 points correctly plotted, award K1.
2. Ignore curve out of range.

(i) —-75<y<-95

(i) 2-5<x<27

The straight line y = 5x + 10 passes
(-2,0) and (0,10)

Notes: 3
Identify equation y = .

riE
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Graph for Question 12
Graf untuk Soalan 12
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(@ ()
(ii)

(5)(1)(a)

(b)

(1)

(8,2)

(=1,-6)

Note:
(7, —6) or (=1, —6) seen or marked on diagram, award P1

Rotation 90° clockwise about the centre (4, =7)
Note:

1. Rotation, 90° clockwise or Rotation, about the centre (4, —7)
award P2
2. Rotation, award P1

Enlargement, scale factor 2, centre O or (6, —5)

Note:

1. Enlargement, scale factor 2 or Enlargement, centre O
or (6, —5), award P2

2. Enlargement, award P1

2% x 15:5 - 155 or equivalent

Note:
2% x 15-5, award K1

46°5

P
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(a)
e Cumulative Upper
s I;(re]guency Frequency Boundary
= ekerapan Kekerapan Sempadan Atas
Longgokan
15-19 0 0 £
20 - 24 2 2 et 4
P1
2529 4 6 29-5 P1
30-34 6 12 o' 2
35-39 9 21 e
40 - 44 11 32 o
45— 49 6 38 22
50 - 54 2 40 Gt
(b) (i) 40— 44 s

(i) *Ox17+%2x22+¥%4x27+¥6x32+*9x37+¥11x42+*6x47+%2x
¥04+%24+%44+%6+%04*] ] + %G EEO R

1525
ke
40

38-125

(©) Ogive (Refer graph on page 1
Axes are drawn in the correct
19-5< x <545 and O :

Horizontal axis is label
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(a) JiA

~
S

4 cm

HB 2cm G 2cm F/C

Correct shape with two rectangles. K1

All solid lines.
JH = HF > HG = GF

The measurement is accurate to = 0.2 cm (one way ) and the N1
angles at all vertices of the rectangles are 90° £ 1°.

K1

(B0 ML
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(b)(ii)

L M
lem
S i 5
2 cm
o e L HD
4 cm

R/A/D 2ecm O/P 2cm B/C

Correct shape three quadrilaterals.
All solid lines

KX and JN joined with dotted line.

JR = HB > RQ = OB = HG = GX = ML > Ki
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(a) (60° S, 140° )
Notes
If only 60° S or 140° W correct, award K1

®) 5400
60

90 - 60
x= 30

(i) 0 x 60 x cos 60°=2 010

B 2010
60 cos 60°

67°
y=67-40

y=27W
Note:
1. If 27° shown , award N1

() 110 x 60

2010 +110(60) _ <

19.13 hrs

b0 :
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